790N NI'V]

_—__—_@ @ \\
\
1
/
/
- ___’//
@

SIMPLE X




X

SIMPLEX




— Int X N7

NADI +316,035806 '0D1 .3 TV X"yWN ,NP>LNIN

JyY 12 -2 nNX A5yn TN DX9IN NYHYI J2INRT

1 NIN T2 919N PYNRYHIPON NN DPDN XINY IR ,N2YNN % 722 991N 12X DX
YV 23% MAYI NI»NDN NPONN,NPYNN

mnt M>ynn 2myw 100 =n MNS3a 722 12N NON? AN 222 MN2Y MOyN Nnd
SNNIN N2YN2

.DONWN DX J2INT 2 NYNY DY NTIAYN >PO0N

SIMPLEX




N7 X
N7y 57ND NTYAYN ANP NTI2YN 0T
(ﬁ) (Mmyw)
1 1 X 1IN
3 % 3 ‘
2 1 2y NYNY
3 y 3
SIMPLEX




&

B

N7 X B

N

2

1,(2+1y2=1 = I. 12y +12x =Xy .
L Fonl o L. x =702y &
b

y> — 41y +420=0 29390 117 11 5
il

o

e |

SIMPLE X il




y=myv2l WX y=myv?20

\{} [
x=myw 28 X x=myv 30
\| U
100 100
W=3.57 N W=3'33
[
mbyn 3

:DINX NYYN 722 19N NYNRYY 1IN

:INX N2YN 722 799N ) 2RI 102D

99010 Mmyvw 100 -n mnoa

22 1O NAN? ) IRV MOYNN

MON? JINIY MNOWN MOYNN 190N

SIMPLEX

yyw 100 -n Mmnoa anrn b5




NV Ni'ya

_—__—_@ @ \\
\
1
/
/
- ___’//
@

SIMPLE X







316,035806 D0, 7"V Y’P ,NPONIN

. B Y0 nyn)n NN v myw 6 Mayc, A Pyn RN IPRUN
, A YN TN RN TPRWNI NNONY NN 10 PR

JPRUNN 92 Myw 2 B 1Yo nynam

J101000 W RN YA NYY NIAYI 1WA TPNINM TPRYNN
NP 1PN TPNNN DU TPRWNN DY IMPNND

TNINON MY DX RX¥N) 1219010 IRY TPRWNN DY NINONOT VAT INR MYY 70D R¥N

SIMPLEX




TPNINN DY IRON YAT TY TIRUNAD DY IR VM PN — X :)00)

BA a7 — S

mPm 17 lal
(v"np) (n"P) (Mmyw)

S S 6 TPRWUN

6

S S 6—x—2 MO0
4 —x

W90 TY

S S

6 6 (1+x) I+ x TPRWN

S S 4 1 YO0
4—X 4—x

SIMPLEX




Y2290 TY TPRYNDN NIAYY 17N

%(1 +X)=7 E X :)22,AW290 TY 11PN 1I1AYY 7172 My
U

x2—3x+2=0
U

x=nwwl , x=myvw?2

SIMPLEX




316,035806'DN 2 79, T/YWN 2 ,AP0NIN

I MR AP MIPNNIINT DD .DIPRIMND YIIIMNMNRIIRY 1T YN 1y
VP 7.5 nnn 11 X3 5w myomm ,w’np 6 nn»n 115w mynnn
,DO871 )W DY AN VI MPT20 Mayd

VAP TN XTI XM, IMNRD Dpn mrn T xRy

ALY anxwis N panxnywy, I yanxr7awio 11 ¥

I Y0y w92 Ty 1 ¥ 5w RN Y219 172y MYY 10D R8N

SIMPLEX




IT Y70y 9% 7y 1T Y7 5w IRONOD YII MI2YY Mywn 19010 —  t :)0D)

I x5 m»mn — v

17 la) mPm

(n"P) (Mmyw) (v"np)
6(t+%—1) t+%—l 6 III x7 0y nw»on Ty 1Y
LT\ s %) L+ % T [II x7 0oy nw»on Ty 1Y
v-l 1 \ I1 x5 1 yaoynwnonypa Iy

SIMPLEX




20
B 75(t+ m)

t= v :0»pn I y1oy nwnoan Ty 11 ¥1 5w yorn
T5(t+ g0)— 6(t+ g0 — 1)

1= v :0»pn 11 ¥315 1T Yoy nwnon pa 1T x1 5w ypomn
U

v=15t+6.5

152 —t—25=0 2apn, I axnwna v=1.5t+ 6.5 3
U

tznww% N2, t>0

SIMPLEX




A"y
NI NN2INA 007
"(806) 581 |I'TNW"

NIV NI NITRWN ‘1D NN
8-15 D'TINY2A 7901 NVIIN

SIMPLE X




